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Test 1

Section I : Reading Comprehension

Directions : There are 4/5 reading passages in this
part, Each passage is followed by some questions, For
each question there are four suggested answers mark-
e¢ A) , B), C) and D) , You should choose the ONE
best answer and mark the corresponding letter on the
Answer Sheet with a single line through the center,

(B RiE, LSS i)

1

In primitive societies sick people had to rely on
medicine men and witch doctors, (Some people still
rely on them, ) It was believed that a person was
sick because he had been attacked by evil spirits, The
witch doctor’s job was to drive off these spirits,

His technique involved a combination of three me-
thods, the firsi of which was religious, He chanted

magic words and used good luck charms which he
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thought had power over the evil spirits that supposedly
had entered the victim’s body, Secondly, he delibera-
tely fed the patient mixtures, which were often filthy
and disgusting, to make the evil spirits so uncomfort-
able that they would gladly run away and so enable
the patient to get well,

The third method was to give the patient medicines
prepared {from certain plants and herbs that were
similar in shape or texture to the various organs of
the body, From our point of view, this was tke only
method that had any value, Modern scientific study
has shown that some of these remedies had real use-
fulness ‘in curing sickness, or at least in relieving
pain, but not for the reasons advanced by the witch
doctor, (180w)

1, Medicine men and witch doctors .
(A) uo longer exist
(B} were evil spirits

(C) still exist

(D) both A and B
2, When primitive people were cured, it was actually

(A) the witch doctor’s prayers
(B) the departure of evil spirits from the body

a result of

(C) reasons unknown to the witch doctor
(D) the great skill of the witch doctor
3. Implied but not stated,
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(/) Superstition is an ignorant person’/s explan-
ation of things he cannot understand,

(B) In primitive societies, sick peuple had to re-
ly on medicine men,

(C) Modern medicine owes much to the primitive
witch doctor

(D) Superstition often does society much good,

2

Every word on a label describing a food, a drug,
a cosmetic, or a medical device is important in pro-
tecting you and your family from buying an inferior
product, from misusing a good one, from bheing tricked
by dangerous quackery, or from unknowingly possess-
ing an item harmful to health,

First of all, the label on a can or package of focd
must be completely truthful, If a loaf of bread is
made with soy flour, the loaf cannot be labeled as
white bread,

A label must not be misleading, This restriction
is somewhat vague and therefore cannot prevent all
violations, Although the government tries tc eliminate
all misleading labels, the consumer must nevertheless
be always on guard, Just because a can of sardines
has a fancy-sounding foreign name, don’t take for
granted that the fish were imported, It is the law,too,

that manufacturers must list their names and places
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of business on their labels,

Manufacturers must use common names in identi-
fying their products so that anyone can readily under-
stand what he is buying, Synthetic foods must be
prominently labeled as artificial, Foods composed of two
or more ingredients must bear labels listing all ingr-
edients in the order of predominance, (200w)

4, According to the article, the main purpose
of a label is to
(A) attract the consumer
(B) protect the consumer
(C) list the ingredients
(D) protect the manufacturer
5, Careful reading of the label will prevent

(A) misuse of a product

(B) buying an inferior product

(C) buying a harmful substance

(D) A, B, and C

6 ., Implied but not stated,

(A) At cne time, some labels were deliberately
misleading,

(B) Every word on a label is important,

(C) Synthetic foods are superior products,

(D) Foreign foods always have misleading
labels,



-

Christopher Columbus was fitst and foremost a
sailor, He was born and reared in Genoa, one of the
oldest European seafaring communjties, As a youth
he made several voyages in the Mediterranean, where
the greatest mariners of antiquity were bred, At the
age of twenty-four,by a lucky chance,he was thrown
into Lisbon, center of European oceanic enterprise,
There, while employed partly in making charts and
partly on long voyages under the Portuguese flag, he
conceived the great enterprise that few but a sailor
would have planned, and nome but a sailor could
have executed, His idea was toreach “The Indies” —
Eastern Asia — by sailing west, It took about ten
years to obtain support for this plan, and he never
did execute it because a vast continent stood in the
way, America was discovered by Columbus for doing
something that he never intended to do and mever
knew that he had done, Yet we are right in so ho-
noring him, for he had the persistence, the knowl-
edge, and the sheer nerve to sail thousands of miles
into an unknown ocean to make the most spectacular
and most far-reaching geographical discovery in re-
corded human hjstory, (170w)

7, According to the passage, why did Columbus
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go to Lisbong
(A) In order to learn something,
(B) For no particular reason and without plan-
ning to do so,
(C) Because he could not find work in his native
Genoa,
(D) Because he needed to recruit sailors for a
voyage to the Indies,
8. According to the passage, in Columbus’/ time
Lisbon was the .
(A) only place he could have gone to engage in
oceanic enterprjse
(B) site of more shipping and sailing businesses
than there were in any other part of Europe
(C) most important center in the world for ocean
exploration and discovery
(D) only place in which he could have found
support for his voyages of discovery
9, The author of the passage regards the disco~
very of America as .
(A) something every man might dream of doing
(B) the most importani event in the history of
mankind
(C) 2 geographical discovery of the first impor-
tance
(D) a curious accident whose importance has

been exaggerated



10, The idea which Columbus advanced but never

proved was that

(A) a vast continent stood in the way of the
route to the East Indies

{B) Europeans could sail unobstructed around the
world

(C) America could be reached if one sailed we-
st

(D) Europeans might reach Eastern Asia by

sailing west

4

When water is heated until it boils, bubbles of
gas appear and rise through the hot liquid, When an
electric current passes through water in a process
called electrolysis, bubbles of gas appear and rise
through the liquid, Superficially, the twe events
appear the same,

If the gas from the boiling water is examined,
its properties are found to be the same as thosc of
the water, Thus if the steam is cooled to room tem-
peraturc, a liquid is formed which is indisting—
uichable from the origina! water, When, however,
the gas from the electrolysis equipment is cooled to
Toom temperature, it remains a gas rather than beco-
ming a liquid, Nor will it,at zero degrees cen igrade

or below, turn to solid, as will the gas from boiling
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water, These two processes, boiling and electrolysis,
have clea}ly resulted in products with quite different
properties,

In boiling, the gas does not represenst a new
substance, but only a different state of the original
substance, Electrolysis, on the other hand, has gen-
erated a product which is a new substance, or possi-
bly a mixture of new substances, A change in state
as represented by going from a liquid to a gas with-
out the production of new substances is called a
“physical change” ,however,when a process takes place
that produces new substances, this is called a “chem-
ical change” or a “chemical reaction” , In a chemic-
al reaction, the initial substances are replaced by a
new set of substances or products, (230w)

11, Which of the following is the best title for
this passage?

(A) Electrolysis and Its Products

(B) Physical and Chemical Changes

(C) Different States of Substances

(D) The Temperatures for Boiling and Electrol-

ysis
12, According to the passage, electrolysis and the
boiling of water look the same because they
both

(A) take place at the same temperature

(B) generate chemical reaction

& »



13,

14,

15,

(C) result in new substances

(D) produce a gas from water

At a temperature slight.y above zero degrees
centigrade, which of the following is true of
the gas produced by electrolysis,

(A) It does not become liquid,

(B) It cannot be distinguished from water,

(c) It bec‘émes a solid,

(D) It expands greatly,

Which of the following best illustrates a che-
mical reaction?

(A) Cold water becoming ice through freezing
(B) Hot water becoming steam through boiling
(C) Ice melting through heating

(D) Water forming gas through electrolysis

It can be inferred from the passage that if
grapes, and other ingredients (fg#}) are used to.
produce wine, the auther most likely say that
the wine represents |

(A) a product of boiling

(B) the original substanre during boiling

(C) a new substance

(D) only a different state of the original subst~-

ance

5
The number of speakers of English in Shakespear’s
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time is estimated to have been about five million,
Today it is estimated that some 260 million people speak
it as a native language, mainly in the United States,
Canada, Great Britain, Ireland,South Africa,Australia
and New Zealand, In addition to the standard
varieties of English found in these arcas, there are
a great many regional and social varieties of the lan-
guage, as well as various levels of usage that are em-
ployed both in its spoken and written forms,

It is virtually impossible to estimate the number of
people in the world who have acquired an adequate
working knowledge of English in addition to their own
languages, The purposes for which English is learned
and the situations in which such learning takes place
are so varijed that it is difficult to define and still more
difficult to assess what constitutes an adequate working
knowledge for each situation,

The main reason for the widespread demand for
English is its present-day importance as a world lan-
guage, Besides serving the infinite needs of its native
speakers, English is a language in which some of the
most important works in science, technology, and
other fields are being produced, and not always by
native speakers, It is widely used for such purposes
as meterological and airport communijcations, intern-
ational conferences, and the dissemination (& %) of

information over the radioc and television networks of
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many nations, It is a language of wider communication
for a number of developing countries, especiaily
former British colonies, Many of these countries have
multilingual (LFiEZ ) populations and need a lan-
guage for internal communication in such matiers as
government, commerce, industry, law and education
as well as for international communication and for
access to the scientific and technological developments
in the West, (280w)
16, The main reason English is so popular today
is that .
(A) it has heen used ever since Shakespeare’s
time
(B) Britain had many colonies which use Eng-
lish as their official language
(C) it has become ihe native language of many
countries, such as Canads, South Africa and
so on
(D) it serves as a language that is needed for
international communication
17, What type of developing countries would be
most likely to use Englishg
(A) Those geographically close to the United
States,
(B) Those having close relationship with the Un-
ited States and Great Britain,

(C) Former colonies of Great Britain,
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(D) Countries where international conferences are
often held,

18, It is difficult to assess what constitutes an ad-
equate working knowledge of English because
(A) there are too many people speaking English

in the world

(B) people in the world learn English with a
variety of purposes and reasons

(C) there are so many multilingual peoples

(D) the number of the people with an adequate
working knowledge of English is difficult to
estimate

19, Which of the following statements is not true?

(A) Although English is widely used in the
world, the number of native speakers is only
about 260 million,

(B) People of the world like to learn English
chiefly because of its present-day impor-
tance as a world language,

(C) In addition to the standard English there
are a great many varieties of English in the
world,

(D) All the important works in scicnce, techno-
logy, and other ficlds are written in Eng-
lish,

20, The best title for this passage is
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(A) The History of Erglish Language
(B) The Difficulties of Learning English
(C) English as a World Language

(D) The Standard Varieties of English

Section I : Cloze Test

Directions : There are 20 blanks in the following passa-
ge. For each blank there are four choices marked A) ,
B) ,€) and D) on the paper, You should choose the one
answer that best fits into the passage, Then blacken
the corresponding letter on the Answer Sheet witna

pencil, (W WHRIE, LUS&HLTMUEHIER)

Are you 1 that you actually possess six

senses? The sixth is a muscular sense responsible for

2 your muscles intelligently ~- to the exact

3 necessary for each actionm you 4 .
For example, when you 5 an object, the sen-
sory 6 linking the muscles to the brain stop
your hand at the correct 7 . This automatic

8 of the position of your muscles 9 the

object is your muscular sense in action,
Muscles are stringy 10 fibers varying from
one five-thousandth of an inch to about three inches,

They have three 11 characteristics : they can

become shorter and thicker; they can stretch; and they
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